Program Name B.Sc/B.A (Mathematics)
B.Sc./B.A. Part |1
Paper Code — MT- 05 (Differential Equations)
Section-C
(Long Answer Questions €re s ater w2r)
Tk U 14 37k ST § Each Question Carries 14 Marks

(1) Solve the linear simultaneous differential equation. (14'%)

HAETT (R I SAThHA FHIHT & Hl| (Ans. MT-05, p.190)
dy dz
x—+z=0; x—+y=0
dx " T dx y
(2) Solve the P.D.E. by charpit’s method & find complete integral. (Ans. MT-05, p.357) (14%)

=Tfte forfr & € 71E i1 STarsher FHteRtoT T YUt FHTeReT T ShitSTY|
q— (2% + p?x? + 2pzx) = 0

(3) Solve: (Ans. MT-05, p.415) (14%)
(D2 + 6DD +9D'2)z = 12x2 + 36xy;D=—; D = %
(4) Solve : (8 FIfSTT) (Ans. MT-05, p.431)  (14%)
2 3%z 2 9%z 02z 5 3
+y +2xyaxay—xy
(5) Solve: @aﬁﬁf@ (Ans. MT-05, p.192) (14'%)
2d%y  dz _
%x — % _ 4y =2«
2y 4 4 —3x=0

(6) Solve the P.D.E. by charpit’s method & find complete integral:
(=maftre farfer & <t 15 ATk STkt WHTGRTOT T qUf THTeRST J1d HIST) (Ans. MT-05, p.356) (14%4)
q = 3p’

(7) Solve: @am (Ans. MT-05, p.408) (14'%)

3 12 13Y, _ 3 : p=239 p12o
(D3 —7DDY — 6D )z—ex+y+sm(2y+x),D:§,D %

(8) Solve : (B hISTT) (An.s MT-05, p.430) (14%)
9%z 0z
x?— 3xy—+2y2—+ —+2y—=x+2y
ox? dy
(9) Solve the following simultaneous Differential Equation. (14'%)

T3 T STersher TR B ShiTSTT) (Ans. MT-05, p.186,187)



Z—’tc+5x+y = et;%—x+3y= e?t

(11) Solve by charpit’s method & find complete integral. (Ans. MT-05,p.358) (14%)
ELECAEIPE RIS 1
zp? +27%¢°-1=0

(10) Solve : (Ans. MT-05, p.414) (14%)

2 / 12y, — p=2.p =29

(D= +3DD + 2D )z—x+y,D_ax ; D ==

(11) Solve : (Ans. MT-05, p.426) (14%)
(D? = DD' — 2D)z = sin(3x + 4y); D z%,u’ = %

(12) Solve: (B hIfSTT) (Ans. MT-05, p.213)

" " ’ 2 d " dz " d3
(@®—x)y +(8x>—-3)y +1l4xy +4y=x—3;y1§d—y,y Eﬁ;y =#

X
(13) Find approximations of solution by Picard’s method.

TOsRTE faIfer & THTehtoT o T T 1 Hi~iehe UTH HISTTl  (Ans. MT-05, p.237)
Y — 2y —2x? —3,y(0) = 2

dx
(14) Solve second order linear diff. equation : (Ans. MT-05, p.244)

& é fyfir e i ifae stashat ot g1
2
2d%y 2 dy — 3,
X" - (x +2x)dx+(x+2)y x’e
(15) Solve by variation of parameters method: (Ans. MT-05, p.295)

T foreror farfer gRT &t shifere—
d%y
Tz Ty =cosexx
(16) Solve: (B hIfSIT) (Ans. MT-05, p.211)
Sy (2 d’y dy 4
x5+ (x +x+3)y+ (4x+2)=+2y=0
(17) Find approximations of solution of given [.V.P. by Picard’s method.
d
ﬁwu@wmwd—y = 2xy,y(0) = 1 & fou e fafer yew 7 wf=hed v, v, y3
x
3 |(_'|5|":)||:_T|Q| (Ans. MT-05, p.237)
d
d—y = 2xy,y(0) =1
x
(18) Solve given second order linear diff. equation : (Ans. MT-05, p.245)
&t ié fecfia e i iRaeh tasher eft. &e

Y e 1) (B2
- =y = (x 1)(de x+1)
(19) Solve by variation of parameters method: (Ans. MT-05, p.297)
wreret foreror farfer gry &t hifsie—
d2
dx—}; + 4y = 4 tan 2x
(20) Solve: (B hIfSTT) (Ans. MT-05, p.214)
xd3y 2 dzy dy .
+ (x 3)dx2+4xdx+2y—0

dx3



(21) Find solution by Picard’s method up to third approximation.

TORTE TaIfer & THTeRToT o BT T 1 AlwTshe STH Shifery]

(Ans. MT -05, p23 7)

dx
(22) Solve: (B hITSTT) (Ans. MT-05, p.246)
d?y dy _ %
xdx2+(1 x)dx y=e
(23) Solve by variation of parameters method: (Ans. MT-05, p.294)
e fererer oty gy &e shifse—
d%y
—ty=x
dx? y
(24) Solve by the method of variation of parameters.
e fereror fafer g gt il (Ans. MT-05, p.298)
2
287y L W 2
X U2 +x i y x-e

(25) Solve the given equation and find its particular integral by the method of undetermined coefficients:

Tt wefieRteT 1 &t ShITSTC T 3eent TorfRTe STenar At Tortent <ht farfer & 9ma shife)

(Ans. MT-05, p.306)

d%y dy
— —2tanx—+ 5y = sexx.e*
dx? dx oy

(26) Find complete integral of given equation by charpit method. (Ans. MT-05, p.364)

w1t forfer & ST, =T g wwTehet 9T shifeTg)

2(y +qz) = q(xp + yq)
(27) Obtain complete integral of given equation: (Ans. MT-05, p.375)

T @Y. = qut w91 SIS

xp = z(z - qy)

(28) Solve by variation of parameters method: (Ans. MT-05, p.295)

e fererr fafer grr g hifse—

d%y
—+ vy = cosex x
dx ? y



